3

551 DU

T4 TmE | oo | A T ALt 124
S0HES | B AMECIE TF (Tl211 54 =iy s | EA Wil T L200m Y S ON T
e S AR BT I I o o A AL | T
TN — VR L TR | SEA | (BB TENI RIEF | FHHER
55 2 D4

T THgE | T | T AL 147
e R P 6nA | A [HEEETRELISm L ZON ST
SO - 2~ PR TE (BRI | R T O — gL |
gﬁfﬂ TSRS — S RGE G LA T (TE1481 | o gy 67 k| b L 22m s L |
BB - YA BRI T (HHE2185/H) | &R - 480 47 1 tA  EHKETHL322m AL | R
e e N A | A |EHEETHFLL00m AL |
SO AT - HUH6 B R TH (HEL015H) | AR 47 A TR |EEERTHEL375m B AL | AERRGR
JURFRECETEMIHTR LS (TRR0995R | e anf | B |HEEH@RTH L430m T TN T
SOIEHT - HUHITHMULR T4 (IH6035 - |0 59 A FA s T L 168m oL |

6038 541)




SOEMESR 2 B MITESE TE (hiE41345-%¢) e A 3 A AR [HRELE THE L 100m FRA A AL [k
SOIEMESS SR SE T8 (7188044 5-#¢) HH 3 A TR |[MARELE L9 L 100m fasmip AL ARG
ORI BH K SIE TH (MEPEKR) BT 374 A TA [Pk S E T L50m —RBEANFL R
;’g)ﬁ}jﬁzy FIFHEMBEAETE (TE21925 |y p 571 1 A [T ASETHEL1548m —REEAAARL | REG
Bl K KRBT g Ji T H 3 A AR B KK ETEY N 12 FE4 B AL |THP A g
TER R EMGE TF () TERFEL 57 H AE |#RTHENIA (SHE2F) —RRBEPAAL | PR R
THEP LB ETF (B TERE 574 A R [EARE LENIK — B AL | PR BE R
TEP LRI EHGE LR FmGERH) FERE 57 A B |G LENIX BB AL | R
TEPEEE RS LE () TEREL 57 A A [ IENIRK — B AL | PR BE R
TER PSS SR TH (R ) TERFEL 57 H B BRI LHEN1 — RPN [ FEEE
CORJUES

TH4 TH5HT T A1) T AL FH AR
SO - UCREHMUAR LR (IHS2A55 | gy SHA | bk |ME®ATHLEO0m Y3 NI
SOIEHMERS 3 B MITE R L9 (7B 1378 5-#¢) TARH 3 A oA MAEEE R L9 L 130m FRA A AL [k
30IEAEF6 S MIESE LF (Eb2725 1) hna& 3 A TR |[MRELE 9 L 150m R A AL (R
B0MEHER TR SUE T (HET1855#1) Bz 3H A A |EEELE T L 30m fadmip AFL ARk




E6045 758 (FEE) Bk LF Ff i 8% A AR R TE L LHENI e AL R

%:gg%;&%l—1%30%%0&?%1—1%%{#%% 1;)% (/1B 57 A +ok  |BEHIT ¢ 1500 L490m 4 AL L(EJJE%%
%)’f;ﬁ%}?’éﬁle%30$¥&§?%%2%@@‘??’6%% ET;)% (F+ 59 A Stk BT 6 150m  La90m . Lﬁ;ﬁ%ﬁ
%:gg%;&%l—3%30%%0&?%1—3%%{#%% g)% (F+ 54 H +k  [BAEIT ¢ 150mm  1500m 4 AL L(EJJE%%
0EMA Tl —4F~ 2 A—L R T RE T H 7;? (I B 574 H B |~ A LR TERE TENI T — T4 AAL L(%JJE;%::;%
%@éﬁ’jﬁiﬁz‘ 1530 HA TR 1B A DG | 57 1 A [BAHIT ¢ 150mm  1.500m A AL t(g}}z%%
?;Egg%g%@"z—z%mﬁ%&?%’fz—2%/5\13#%%* e 5 A e o 150m 1 450m B Lﬁ;ﬁ%ﬁ
gfﬂffz UHE—=VETIRKE (KA T—) EHL %%flilz;&— 0 1 i oK B N 2 T .




